HSC 2001 - Community and Family Studies

Question 2

Refer to the table to answer Questions 2 and 3.

Post-school education undertaken by Year 12 leavers

Type of institution Boys Girls Total
attended in May 1998

% % %
University 44.8 48.6 46.8
TAFE 22.5 15.4 18.7
Other institutions 3.1 52 4.2
Not attending 29.6 30.8 30.3
Total 100.0 100.0 100.0

2 Which of the following statements is most strongly supported by the information in the
table?
(A) Girls are more likely to enjoy studying than boys.
(B) 4.2% of girls attend ‘other institutions’.
(C) A greater proportion of boys than girls study at TAFE.

(D) The majority of boys attend university.

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 4.8 2.9 0.5 1.5 0
B 9.5 8.1 3.3 2.2 0
C 76.2 77.9 89.2 85.3 100
D 9.5 11 7.1 11 0
N 0 0 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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